[image: ]


[image: ]


[image: ]

[image: ]
image1.png
1 Look at the pictures and choose the correct answer.

1 Picture |Choose |~ [§4 must be a lion because of the long hair around the head and neck.
2 Picture |Choose |~ ‘ might be a puma or it could be a cheetah.
3 Picture |Choose |~ \ can't be a tiger because the head is too small.




image2.png
2 Look at the sentences. Choose the correct meaning.

1 Picture C must be a lion because of the long hair around
the head and neck. |I'm sure it is ... |

2 Picture A might be a puma or it could be a cheetah.
I think it's possible that it is ... |~ [

3 Picture B can't be a tiger because the head is too small.

|I'm sure it isn't ... |
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Rewrite the sentences using the words in brackets. Then listen to the interviews
about the incident in the article and check your answers.
1 I'm sure it's a lion.
It must be a lion.
2 It's possible it escaped from the zoo. (might)

It might have escaped from the zoo.
3 Perhaps it is very hungry by now. (could)

It could be very hungry by now.
4 It's possible it was somebody's pet. (could)

It could have been somebody's pet.
5 Perhaps it grew too big. (may)

It may have grown too big.

6 I'm sure it isn't a lion. (can't)

It can't be a lion.
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Complete the sentences with the correct form of a modal verb and the verbs in

brackets.

1 Dave can't have left (not leave) yet - his coat is still here.

2 The traffic's really bad - I'm worried we

might miss

(miss) our train.

3 They're not at home. They |must have g

4 | can't find Jo. She

5 The plane landed ten minutes ago. Bill

reclaim.

one away (go) away for the weekend.

might have gone

(go) home.

must still be

(still/be) in baggage

6 Buy a laptop? With my pocket money? You [can't be (not be) serious!





